
Table s1. Anisotropic displacement parameters ( Å2) of monoclinic KYb(WO4)2. The anisotropic 

displacement factor exponent takes the form: -2? 2 [h2 a* 2 U11 + ...+ 2 h k a* b* U12 ] 

 
Atom U11 U22 U33 U23 U13 U12 

Yb 0.006(1) 0.006(1) 0.004(1) 0 0.002(1) 0 

W 0.004(1) 0.005(1) 0.003(1) 0.000(1) 0.001 (1) 0.000(1) 

K 0.014(1) 0.014(1) 0.015(1) 0  0.009(1) 0 

O1 0.010(3) 0.012(4) 0.008(3) 0.000(2) 0.004(3) -0.002(2) 

O2 0.005(3) 0.007(3) 0.004(3) -0.003(2) 0.001(2) -0.002(2) 

O3 0.005(3) 0.003(3) 0.003(3) 0.001(2) 0.001(2) -0.000(2) 

O4 0.007(3) 0.011(3) 0.008(3) 0.000(2) 0.005(2) -0.001(2) 

 
 
 


